Chemistry2710Spring2001Assignmentl
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3. (a) Wefirst corvertbothmasseso numbers:

32.0g
" = Z5gagg/mol O 12°MO
71.0g
————=1.00
Cb = 70.906g/mol mol

To completelyreact0.125mol of Sg, we would need4(0.125mol) =
0.500mol of chlorine. The chlorineis thereforein excess.The num-
berof molesof productformedis therefore4(0.125mol) = 0.500mol.
Themassof disulfurdichlorideis therefore

Ms,cl, = (0.500mol)(13503g/mol) = 67.5¢.



(b)

_ NRT _ (1.00mol)(8.314510JK ~*mol~1)(32315K)

. 3
P 90x 10°Pa = 0.030m"
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4. \We muststartwith abalancedeaction:

3
Al () + 3HF(g) — A|F3(S) + EHZ(Q)'

Jo Jo 3 Jo o Jo
AH" = AHf(AIFg)-l_éAHf(Hg)_(AHf(AI)+3AHf(HF)>

— —15104— 3(—27330)kJ/mol = —6905kJ/mol.

— 3_ — _
55 = Suryt 35~ (Sa)+35u)
= 665+ 2(130680) —[28.30+3(173779)] K Imol~?
= —287.117JK mol 1.

5. Theslopeis 2.39andthey interceptis 1.23.In otherwords,theline of best
fitisy= 2.39%+ 1.23.



